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(v C_25 More Sequences and Series Practice

(Solutions at right)

Sequences and Series — more practice Sequences and Series — more practice

1. 1= the following sequence geometric? 1. 1= the following sequence geometric?

a) 10,15, 22,5, 375, b) 714,21, 35,.. D015 2253T50 5 07,0420, 25. W0 T geb fe nedt tem e

Ao save. numbg, et
mm(,iﬁ,s Ly Hhe Same. mumber

f_

s
S LS @S e

2. Find the common ratio, », of each geometric sequence 2. Find the commaon ratio, », of each geometric sequence

ay -1,-5,-25,-125,... b =200, 1040, —50, - ay -1,-5,-25,-125,... By =200, 100, — r= _10° _ |
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3, Find the next three terms of the follewing sequence 3, Find the next three terms of the follewing sequence
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4. Find a formula for the nth term of cach geometric sequence. 4. Find a formula for the nth jgrm of each geometric sequence.
a) =4 3 b p, =5, 35 a) =4 g o0 awt =2
a) =4, 1, = 16384 ) b= 5,0, =135 ab = hy = 1635gggy = (™) S a=Z
How = Fe7
5. The seventh term of a geometric sequence s 1215 and the fourth term is 45, Find the common 5. The seventh term of a geometric s 3 is ‘i g
ratio, then find the value of the ninth term. rtio, th»nsl'md ﬂl:;;nllul. of the ninth term. ar*=ys a:ﬁ% :35 Eo= ’s(z)‘
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6. A population of rabbits is growing at a rate of 8% a year. [f there are 160 rabbits in the mitial 6. A population of rabbits is growing at a rate of 8% a year. [f there are 160 rabbits in the mitial
population, create a general tlerm equation, ¢, describing this sequence, Use it 1o find the population, create a general term equation, ¢, , describing this \«.l|uu|w Use it 1o find the
number of rabbits after 6 years, nurmiber of rabibits after  years, —lto a,oi)
60, 172.5, —-- to= 6o (108) =

7. Find the sum of the following geometric series, 1T necessary, roumnd 1o 2 decimal pluw
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a) 729243+ 8127 + ... (L0 terms) a) 729-243+81-2

bl T+144+ 284+ 564+ + T168 by T+144+ 28456 +TL N )
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7. Find the sum of the following geometric series. 1l necessary, round to 2 decimal places

1o~ tm =Thems
=gk ko TR s,_m(__z, 910 |
&, Find the common ratio of & geometric series with a first term of 38 and a sem to infinity of 76, &, Find the common ratio of & geometric series with a Iu-.[ term of 38 and a sum 1o infinity of 76,
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9. Find the general term, 1, . for the deseribed sequences:

. - 11
a) geometric, beginning: -2,1,-=, =..
= L it 3's
by geometric, with ¢, = 75 and r = 5
. . 1
©) geometric, with ¢, = 5 and r= i
10. Find the 25" term of the following geometric sequence: 2,23 6.

1. List the first five terms of the geometric sequence with 1, =8 and r
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12, Find the requested sum for each geometric sequence

I

ay Find 8, corect 1o 2 decimal places, for =5, r=

by Find 5, for ¢=-3 and r=2

«) Find the sum of the first 11 terms of the geometric series that beging 7-14+28—..,

13, Determine the sum, if possible:

a) 2‘;—4‘ 4
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14, A helium balloon rises 80 meters the first minute afier it is released. Each minute after that it
rises | 5% less than the previous minute, How high does the balloon rise in total?
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9. Find the general term, 1, . for the deseribed sequey

a) geometric, beginning: =2 1.-
N 2

b geometric, with 1, = 75 and r =5 %:‘] c= G (3

©) geometric, with ¢, = 5 and r=

Le=5=aG)

10. Find the 25" term of the following _|,|:0|nc1m. \u]utnu. 2.3, r = %ﬁ -G

b= 2l®" = 2 -Qotzd %
1. List the first five terms of the geometric sequence with 1,

B0l 9°4({) a-z (32w, %, 4, 2

12, Find the requested sum for each geometric sequence

ay Find 8, correct 1o 2 decimal places, for a=35 % ’éi) /?Eg-
“2(i= (2) )

!
«) Find the sum of the first 11 terms of the geometric series that ln.gin-. T-14+28-..
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13, Determine the sum, if possible: 1=¢2)
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rises | 5% less than the previous minute, How higlu does the balloon rise in total?

% , 8, 57.8---
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